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National Means Cum Merit Scholarship Examination 2018
jk”Vªh; lk/ku o ;ksX;rk Nk=o`fÙk ijh{kk 2018

(For students studying in Class 8th)

¼d{kk vkBoha esa v/;;ujr fo|kfFkZ;ksa ds fy,½

State Council of Educational Research and Training Haryana, Gurugram

jkT; ‘kSf{kd vuqla/kku ,oa izf’k{k.k ifj”kn~ gfj;k.kk] xq#xzke

Time Allowed : 3 Hours

Maximum Marks : 180

le; % 3 ?kaVs
iw.kkZad % 180

Instructions to the Candidates

ijh{kkfFkZ;ksa ds fy, funsZ’k

Read the following instruction carefully
before your answer the questions.
Answers are to be marked on a
SEPARATE O.M.R. SHEET

1. Please write your Roll No. very
clearly (only one digit in one block)
as given on your admission card and
even zeros appearing in Roll No.
should be correctly written in the
appripriate blocks on O.M.R. Sheet

iz’uksa ds mÙkj nsus ls igys fuEufyf[kr funsZ’kksa dks
/;ku ls if<+,A mÙkj ,d vyx vks-,e-vkj- ‘khV ij
vafdr djus gSA

1- viuk jksy uEcj tSlk fd vkids izos’k&i= esa
fn;k x;k gS] Li”Vr;k ¼,d pkS[kVs esa dsoy
,d vad½ fyf[k,A ;gk¡ rd fd jksy uEcj esa
vius okys ‘kwU; ds vad Hkh vks-,e-vkj- ‘khV ij
lgh pkS[kVs esa fy[ks tk,¡A

Year Roll No. vuqØekad

1 8

Year Roll No.

1

Example :

8 1 6 3 1 0 1 2 4

Year vuqØekad

1 8 1 6 3 1 0 1 2 4
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2. This test has two parts. Part - I as
well as part - II consist of 90
questions in each.

3. Each question carries one mark.

4. Since the time allotted to the two
parts of this question-paper is very
limited, you should make the best
use of it by not spending too much
time on any question.

5. Extra page has been provided of
rough work at the end of question
paper.

6. Do not mark more than one answer
of any question on OMR sheet,
otherwise answer will be cancelled.

7. Avoid cutting/over writing/use of fluid
etc. on OMR Sheet.

8. Attempt each question, there is no
negative marking in this test.

2- ;g ijh{kk nks Hkkxksa esa gSA izR;sd Hkkx esa 90
iz’u gSA

3- izR;sd iz’u dk ,d vad gSA

4- pwafd bl iz’u&i= ds nksuksa Hkkxksa ds fu/kkZfjr
le; lhfer gS] blfy, bldk vf/kdre
lnqi;ksx dhft, vkSj fdlh iz’u ij cgqr
le; u yxkb,A

5- iz’u iqfLrdk ds var esa jQ dk;Z ds fy,
vfrfjDr i”̀B fn;k x;k gSA

6- vks-,e-vkj- ‘khV ij fdlh Hkh iz’u ds ,d ls
vf/kd mÙkj ekdZ u djsa ojuk mÙkj fujLr gks
tk,xkA

7- vks- ,e- vkj- ‘khV ij dfVax@vksoj jkbfVax@¶ywM

bR;kfn dk iz;ksx u djsaA

8- izR;sd iz’u gy dhft,] bl ijh{k.k esa dksbZ udkjkRed

vadu ugha gSA

Note :Do not write anything except the
Roll Number and rough work any-
where in the booklet.

uksV% bl iqfLrdk esa viuk vuqØekad fy[kus vkSj jQ

dk;Z djus ds vfrfjDr vkSj dqN ugha fyf[k,A
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PART - I
MENTAL ABILITY TEST

ckSf)d ;ksX;rk ijh{k.k

¼Hkkx- I½

Questions : 1 to 90

Directions (Q. 1 to 10) :- In these

Questions a series is given with

one term missing. Choose the

Correct alternative from the given

ones that will complete the series.

1 36, 49, ?, 81, 100

(1) 62 (2) 64

(3) 66 (4) 68

2 27, 64, ? 216, 343, 512

(1) 100 (2) 112

(3) 125 (4) 152

3 56, 60, 64, 68, ?

(1) 70 (2) 71

(3) 72 (4) 74

4 47, 41, 35, 29, ?

(1) 23 (2) 25

(3) 26 (4) 27

funsZ’k ¼iz- 1 ls 10½ bu iz’uksa esa ,d Ja[kyk nh xbZ gS

ftlesa ,d in yqIr gSA fn, x, fodYiks esa ls og

fodYi pqfu, tks Ja[kyk dks iwjk djrk gksA

1 36, 49, ?, 81, 100

(1) 62 (2) 64

(3) 66 (4) 68

2 27, 64, ? 216, 343, 512

(1) 100 (2) 112

(3) 125 (4) 152

3 56, 60, 64, 68, ?

(1) 70 (2) 71

(3) 72 (4) 74

4 47, 41, 35, 29, ?

(1) 23 (2) 25

(3) 26 (4) 27
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5 17, 19, 23, 29, 31, ?

(1) 33 (2) 35

(3) 36 (4) 37

6 76, 66, 57, 49, 42, ?

(1) 34 (2) 35

(3) 36 (4) 38

7 27, 49, 64, ? 125, 81

(1) 56 (2) 64

(3) 72 (4) 80

8 9, 11, 16, 13, 25, 17, ?, 19

(1) 18 (2) 28

(3) 32 (4) 36

9 27, 33, 39, 45, 51, ?

(1) 56 (2) 57

(3) 58 (4) 59

10 4, 13, 9, 15, 16, 17, ?, 19

(1) 18 (2) 21

(3) 23 (4) 25

5 17, 19, 23, 29, 31, ?

(1) 33 (2) 35

(3) 36 (4) 37

6 76, 66, 57, 49, 42, ?

(1) 34 (2) 35

(3) 36 (4) 38

7 27, 49, 64, ? 125, 81

(1) 56 (2) 64

(3) 72 (4) 80

8 9, 11, 16, 13, 25, 17, ?, 19

(1) 18 (2) 28

(3) 32 (4) 36

9 27, 33, 39, 45, 51, ?

(1) 56 (2) 57

(3) 58 (4) 59

10 4, 13, 9, 15, 16, 17, ?, 19

(1) 18 (2) 21

(3) 23 (4) 25
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Directions (Q. 11-20) Each letter of

the alphabet from A to Z has been

given a value from 1 to 26 serially.

Solve the question on the basis of

value of words.

11 BLUE = 40, BORE = 40 then  BUSH

= ?

(1) 50 (2) 40

(3) 38 (4) 36

12 Choose odd one out?

(1) CART (2) CENT

(3) BONY (4) BLEW

13 Which Word has the Maximum

Value?

(1) BUCK (2) BUMP

(3) BANK (4) BONE

14 Which Word has the Minimum

Value?

(1) BULK (2) BORN

(3) BLUR (4) CAST

15 Which words have the equivalent

value

(1) POCH : CART

(2) TIEC : BOLT

(3) CITY : BURN

(4) JULY : ABLE

funsZ’k ¼iz- 11 ls 20½ A ls Z rd dh o.kZekyk ds

izR;sd v{kj dk eku Øe’k% 1 ls 26 rd fn;k x;k

gSA ‘kCnksa ds eku ds vk/kkj ij fuEufyf[kr iz’u gy

djksA

11 BLUE = 40,  BORE = 40  rks BUSH  =

?

(1) 50 (2) 40

(3) 38 (4) 36

12 tks fHkUu gS mls Kkr djks\

(1) CART (2) CENT

(3) BONY (4) BLEW

13 fdl ‘kCn dk eku lokZf/kd gS\

(1) BUCK (2) BUMP

(3) BANK (4) BONE

14 fdl ‘kCn dk eku lcls de gS\

(1) BULK (2) BORN

(3) BLUR (4) CAST

15 dkSu ls ‘kCn leku eku ds gSa\

(1) POCH : CART

(2) TIEC : BOLT

(3) CITY : BURN

(4) JULY : ABLE
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16 Which equation is Correct?

(1) Z-P = M (2) R+L = W

(3) P+D = T (4) S+K = U

17 BXR - CXF = ?

(1) N (2) M

(3) R (4) T

18
P
L

 -
D
A

 = ?

(1)
L
C

(2)
V
N

(3)
T
D

(4)
D
B

19 Which word is equalent to 62.

(1) RECORD (2) RIGHT

(3) BLANK (4) MARKET

20 M

A

O

J

B

E

W

C

?

(1) T (2) W

(3) P (4) R

21 Which one of the following words

will come at fourth place in the

dictionary?

(1) CROW (2) CHAR

(3) CLAUD (4) CORK

16 dkSu lk lehdj.k lgh gS\

(1) Z-P = M (2) R+L = W

(3) P+D = T (4) S+K = U

17 BXR - CXF = ?

(1) N (2) M

(3) R (4) T

18
P
L

 -
D
A

 = ?

(1)
L
C

(2)
V
N

(3)
T
D

(4)
D
B

19 fdl ‘kCn dk eku 62 gSa\

(1) RECORD (2) RIGHT

(3) BLANK (4) MARKET

20 M

A

O

J

B

E

W

C

?

(1) T (2) W

(3) P (4) R

21 fuEufyf[kr esa ls dkSu lk ‘kCn ‘kCndks’k esa pkSFks LFkku

ij vk;sxk\

(1) CROW (2) CHAR

(3) CLAUD (4) CORK
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Directions (Q. 22 to 35) :- In each of

the following figures, numbers are

written according to some Patterns

and one number is missing. Find

the missing number that replaces

the question mark (?)

22

12

11 94

7 5
32

11

13 18
10

3 8
42

9

15 129

6 3?

(1) 22 (2) 27

(3) 36 (4) 42

23

38

17 22
1

56

29 28
2

35

20 21
?

(1) 3 (2) 4

(3) 5 (4) 6

24

5

1 5
25

4

2 3
36

5

4 4
?

(1) 49 (2) 64

(3) 80 (4) 81

25

2

6

4 581

1

4

2 330

5

8

6 7?

(1) 170 (2) 172

(3) 174 (4) 163

funsZ’k ¼iz- 22 ls 35½ uhps nh xbZ izR;sd vkdf̀r esa ,d

fuf’pr Øe vuqlkj dqN la[;k,¡ fy[kh xbZ gSA buesa

ls ,d la[;k yqIr gSA yqIr la[;k Kkr djks tks iz’u

fpg~u \ ds LFkku ij mi;qDr gksA

22

12

11 94

7 5
32

11

13 18
10

3 8
42

9

15 129

6 3?

(1) 22 (2) 27

(3) 36 (4) 42

23

38

17 22
1

56

29 28
2

35

20 21
?

(1) 3 (2) 4

(3) 5 (4) 6

24

5

1 5
25

4

2 3
36

5

4 4
?

(1) 49 (2) 64

(3) 80 (4) 81

25

2

6

4 581

1

4

2 330

5

8

6 7?

(1) 170 (2) 172

(3) 174 (4) 163
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26

9

8

7 420

2

3

21 1631

7

6

5 3?

(1) 9 (2) 15

(3) 18 (4) 21

27

?

122

5

7 9

11

26

50

(1) 80 (2) 82

(3) 89 (4) 99

28
5

7

28

12

16

24

?

15
5

1

7

4

6

2

8

3

(1) 20 (2) 24

(3) 25 (4) 32

29
23

22

19

15

?

11

17

16
7

8

6

5

4

3

2

1

9

(1) 13 (2) 16

(3) 18 (4) 20

26

9

8

7 420

2

3

21 1631

7

6

5 3?

(1) 9 (2) 15

(3) 18 (4) 21

27

?

122

5

7 9

11

26

50

(1) 80 (2) 82

(3) 89 (4) 99

28
5

7

28

12

16

24

?

15
5

1

7

4

6

2

8

3

(1) 20 (2) 24

(3) 25 (4) 32

29
23

22

19

15

?

11

17

16
7

8

6

5

4

3

2

1

9

(1) 13 (2) 16

(3) 18 (4) 20
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30
8 2 0

1 4

5 1 7

1 1

1 2 ?

1 8

(1) 20 (2) 21

(3) 22 (4) 24

31 3

4 5

6

360

1

2 3

4

24

0

1 2

3

?

(1) 6 (2) 0

(3) 12 (4) 24

32

2 1 4

5 2 3

2 1

7 4 1

2 3 1

2 2

5 3 ?

6 4 2

4 2

(1) 5 (2) 6

(3) 7 (4) 8

33 330

5

3
2

216

3

1
4

5?
6

7
2

(1) 75 (2) 84

(3) 60 (4) 120

34

4 3

4
7 2

6 9

4
5 4

3 4

?
11 5

(1) 4 (2) 6

(3) 7 (4) 8

30
8 2 0

1 4

5 1 7

1 1

1 2 ?

1 8

(1) 20 (2) 21

(3) 22 (4) 24

31

3

4 5

6

360

1

2 3

4

24

0

1 2

3

?

(1) 6 (2) 0

(3) 12 (4) 24

32

2 1 4

5 2 3

2 1

7 4 1

2 3 1

2 2

5 3 ?

6 4 2

4 2

(1) 5 (2) 6

(3) 7 (4) 8

33 330

5

3
2

216

3

1
4

5?
6

7
2

(1) 75 (2) 84

(3) 60 (4) 120

34

4 3

4
7 2

6 9

4
5 4

3 4

?
11 5

(1) 4 (2) 6

(3) 7 (4) 8
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35

4

7

8

6325 2

3

5

8164 5

9

6

4?

(1) 225 (2) 270

(3) 308 (4) 306

36 If the date 7th of February comes on

Friday, then which day fall on 28th

of next month?

The February month is year of 2008.

(1) FRIDAY

(2) SATURDAY

(3) WEDNESDAY

(4) MONDAY

37 How many squares in the given

figure?

(1) 55 (2) 60

(3) 62 (4) 63

38 If you are 20th in a row from either

side, then how many persons are

there in a row?

(1) 21 (2) 40

(3) 41 (4) 39

35

4

7

8

6325 2

3

5

8164 5

9

6

4?

(1) 225 (2) 270

(3) 308 (4) 306

36 ;fn Qjojh eghus dh lkr rkjh[k dks ‘kqØokj gks rks

vxys eghus dh 28 rkjh[k dks dkSu lk fnu gksxk\

Qjojh dk eghuk lu~ 2008 dk gSA

(1) ‘kqØokj

(2) ‘kfuokj

(3) cq/kokj

(4) lkseokj

37 fn, x, fp= esa fdrus oxZ gSa\

(1) 55 (2) 60

(3) 62 (4) 63

38 ;fn ,d iafDr esa fdlh Hkh fljs ls fxuus ls vkidk

LFkku 20ok¡ gS rks iafDr esa fdrus O;fDr gSa\

(1) 21 (2) 40

(3) 41 (4) 39
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39 Which pair of numbers is different

from the rest?

(1) 5, 11 (2) 13, 17

(3) 37, 43 (4) 16, 25

40 38-13 = 5x5x?

(1) 13 (2) 5

(3) 25 (4) 625

41 PEN is related to STATIONARY in

the same way in which CHAIR is

related to :-

(1) WOOD (2) FURNITURE

(3) ROOM (4) REST

42 SORROW : DEATH : : ?

(1) HAPPINESS : BIRTH

(2) GAIN : PROFIT

(3) HATE : FEAR

(4) FIRE : CANDLE

43 INTELLIGENT : CLEVER : : DULL : ?

(1) IDIOT (2) SLOW

(3) FOOLISH (4) CUNNING

39 fuEufyf[kr esa ls dkSu lh la[;kvksa dks tksM+k vU; ls

fHkUu gS\

(1) 5, 11 (2) 13, 17

(3) 37, 43 (4) 16, 25

40 38-13 = 5x5x?

(1) 13 (2) 5

(3) 25 (4) 625

41 dye dk lEcU/k ys[ku lkexzh ls gS Bhd mlh izdkj

dqlhZ dk lEcU/k gS&

(1) ydM+h (2) QuhZpj

(3) dejk (4) vkjke

42 SORROW : DEATH : : ?

(1) HAPPINESS : BIRTH

(2) GAIN : PROFIT

(3) HATE : FEAR

(4) FIRE : CANDLE

43 INTELLIGENT : CLEVER : : DULL : ?

(1) IDIOT (2) SLOW

(3) FOOLISH (4) CUNNING



12

Directions (Q. 44 to 46) : In the

Diagram given below, the Circle

stands for ‘educated’, Square for

‘hard – working’, Triangle for ‘urban

people’ and rectangle for ‘honest’,

the different regions of the diagram

are numbered from 1 to 12. Study

the diagram carefully and answer

the questions.

1

4
11

12
9

8

10

7
62

3

5

Honest
bZekunkj

Urban
'kgjh

Educated
f'kf{kr

Hard-
Working
ifjJeh

44 Uneducated urban hard- working

and honest people are indicated by:

(1) 3 (2) 11

(3) 9 (4) 4

45 Non–urban people, who are honest,

educated and hard-working are

indicated by:

(1) 2 (2) 8

(3) 9 (4) 11

46 Urban people who are hard-working

and uneducated, but not honest are

indicated by:

(1) 2 (2) 3

(3) 4 (4) 6

funsZ’k% ¼iz- 44 ls 46½ fn, x, fp= essa ^oÙ̀k* f’kf{kr dk]

^oxZ* ifjJeh dk ^f=Hkqt* ‘kgjh yksxksa dk vkSj ^vk;r*

bZekunkj yksxksa dk izfrfuf/kRo djrk gSA fp= ds

fofHkUu Hkkxksa dks 1 ls 12 rd vad fn, x, gSaA

lko/kkuh iwoZd fp= dk v/;;u djks vkSj iz’uksa dk

mÙkj nsaA

1

4
11

12
9

8

10

7
62

3

5

Honest
bZekunkj

Urban
'kgjh

Educated
f'kf{kr

Hard-
Working
ifjJeh

44 vf’kf{kr ifjJeh vkSj bZekunkj ‘kgjh yksxksa dks iznf’kZr

djrk gS %

(1) 3 (2) 11

(3) 9 (4) 4

45 xSj&’kgjh tks bZekunkj f’kf{kr vkSj ifjJeh yksx gSa

mUgsa iznf’kZr fd;k x;k gS

(1) 2 (2) 8

(3) 9 (4) 11

46 ‘kgjh yksx tks ifjJeh vkSj vf’kf{kr gSa ijUrq bZekunkj

Hkh ugha gS] mUgsa iznf’kZr fd;k x;k gS%

(1) 2 (2) 3

(3) 4 (4) 6
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Directions : (Q. 47 to 50) There are

given five Logical Diagrams,

(A,B,C,D & E) Select one which best

illustrates the relationship among

three classes.

A B

C D

E

47 Birds, Fruits, Mangoes.

(1) A (2) B

(3) D (4) E

48 Vegetables, Potatoes, Brinjals

(1) A (2) B

(3) C (4) D

49 Grapes, Sweet, Fruit

(1) A (2) B

(3) C (4) D

50 Children, Naughty, Studious

(1) E (2) B

(3) C (4) D

funsZ’k % ¼iz- 47 ls 50½ ikap rdZ laxr fp= (A, B,

C, D, E) fn, x, gSaA fn, x, rhu oxksZ esa mRre

lEcU/k dk ,d n”̀Vkar p;fur djuk gSA

A B

C D

E

47 fpfM+;ka] Qy] vke

(1) A (2) B

(3) D (4) E

48 lfCt;ka] vkyw] cSaxu

(1) A (2) B

(3) C (4) D

49 vaxwj] ehBk] Qy

(1) A (2) B

(3) C (4) D

50 cPps] ‘kjkjrh] v/;;u ‘khy

(1) E (2) B

(3) C (4) D
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51 A hand of minute and a hand of

hour make an angle when at 12:27

O’Clock. What is the degree of

angle makes between the both of

hand?

(1) 1000 (2) 1200

(3) 1270 (4) 1620

52 Find that odd out.

(1) 4, 56 (2) 3, 27

(3) 5, 125 (4) 10, 1000

Directions (Q. 53 to 55) : In these

questions from the given

alternatives select the word which

can be formed using the letters of

the given word.

53 LIEUTENANT

(1) TENTION

(2) ELEPHENT

(3) LINNET

(4) TEN NUTRIENT

54 PERMEABILITY

(1) PRIME

(2) MOBILE

(3) PERMANENT

(4) BUTTER

51 12 % 27 cts feuV vkSj ?k.Vs dh lqbZ feydj ,d dks.k

cukrh gSA os fdrus va’k dk dks.k cukrh gSa\

(1) 1000 (2) 1200

(3) 1270 (4) 1620

52 vlaxr ¼fHkUu½ Kkr djksa\

(1) 4, 56 (2) 3, 27

(3) 5, 125 (4) 10, 1000

funsZ’k % ¼iz- 53 ls 55½ iz’uksa esa fn, fodYiksa esa ls ml
fodYi dks NkafV, tks fn, ‘kCn ds v{kjksa ls cuk;k tk
ldsA

53 LIEUTENANT

(1) TENTION

(2) ELEPHENT

(3) LINNET

(4) TEN NUTRIENT

54 PERMEABILITY

(1) PRIME

(2) MOBILE

(3) PERMANENT

(4) BUTTER
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55 SOCIAL - MEDICINE

(1) DECIDE (2) LOCAL MEN

(3) DECEASE (4) MEDICAL

56 How many dots lie opposite the

face having five dots, when the

given figure is folded to form a

Cube?

(1) 1 (2) 2

(3) 3 (4) 6

57 Find out which of the figures 1, 2, 3,

and 4 can be formed from the

pieces given in (X)?

X

(1) (2)

(3) (4)

55 SOCIAL - MEDICINE

(1) DECIDE (2) LOCAL MEN

(3) DECEASE (4) MEDICAL

56 tc nh gqbZ vkdf̀r dks ?kukdkj cukus ds fy, eksM+k
tkrk gS rks ikap fcUnq okyh lrg Bhd foijhr lrg
ij fdrus fcUnq iM+rs gSa\

(1) 1 (2) 2

(3) 3 (4) 6

57 fp= (X) esa fn, VqdM+ksa dks feykdj fp= 1] 2] 3 vkSj

4 esa ls dkSu lk fp= cu ldrk gS\

X

(1) (2)

(3) (4)
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Directions (Q. 58-60) : In each one

of the following question Choose

the correct mirror - image of the

figure / word from the alternatives

given with it?

58 STROKE

(1) (2)

(3) (4)

59 DBV8476

(1) (2)

(3) (4)

60 disturb

(1) (2)

(3) (4)

Directions (Q. 61 to 62) : Choose

the alternative which most closely

resembles the water image of the

given combination?

61 CHIDE

(1) (2)

(3) (4)

62 5DOB6V2

(1) (2)

(3) (4)

funsZ’k % ¼iz- 58 ls 60½ fuEufyf[kr iz’uksa esa fn, x,
fp=@’kCn dks niZ.k esa ns[kus ij fn, x, fodYiksa esa ls
dkSu lk fp= cusxk\

58 STROKE

(1) (2)

(3) (4)

59 DBV8476

(1) (2)

(3) (4)

60 disturb

(1) (2)

(3) (4)

funsZ’k ¼iz- 61 ls 62½ ,sls fodYi dk p;u djsa ftldk
ty esa Bhd oSlk gh izfrfcEc curk gks\

61 CHIDE

(1) (2)

(3) (4)

62 5DOB6V2

(1) (2)

(3) (4)



17

63 ‘A’ is the father of ‘B’ and ‘C’, ‘B’the

son of ‘A’ but ‘C’ is not the son of

‘A’. What is ‘C’s relation with ‘A’?

(1) Daughter (2) Son

(3) Niece (4) Nephew

64 Introducing a man, a woman said,

His mother is the only daughter of

my father. How is the man related

to the woman?

(1) Father (2) Son

(3) Brother (4) Husband

65 Complete the letter series.

ba_ba_ _bbaaa_bbb _ _aa

(1) a b a a b b (2) b a a b a b

(3) b a b b a a (4) b b b a a a

Directions : (Q. 66 to 71) A wooden

cube with side of 4cm which is

painted red on all sides and cut into

small cubes of side 1cm. Answer

the following questions.

66 How many small cubes are formed

in all?

(1) 04 (2) 08

(3) 24 (4) 64

63 ‘A’ ‘B’ vkSj ‘C’ dk firk gSA ‘B’ A dk iq= gS
ijUrq C ‘A’ dk iq= ugha gSA ‘C’ dk ‘A’ ls D;k
lEcU/k gS\

(1) iq=h (2) csVk

(3) Hkrhth (4) Hkrhtk

64 ,d efgyk us ,d vkneh dk ifjp; djkrs gq, dgk

^^mldh ek¡ esjs firk dh bdykSVh csVh gSA vkneh dk

efgyk ls dSlk lEcU/k gS\

(1) firk (2) iq=

(3) HkkbZ (4) ifr

65 v{kj Js.kh iwjh djsaA

ba_ba_ _bbaaa_bbb _ _aa

(1) a b a a b b (2) b a a b a b

(3) b a b b a a (4) b b b a a a

funsZ’k ¼iz- 66 ls 71½ 4 ls- eh- Hkqtk okys ydM+h ds ,d

?ku dh lHkh Hkqtk,a yky jax esa jaxh xbZ gSaA bl ?ku

dks ,d lSŒ ehŒ Hkqtk okys ?kuks esa dkVk x;k gSA

fuEukfdar iz’uksa ds mRrj nsaA

66 dqy fdrus NksVs ?ku cuk;s x, gSa\

(1) 04 (2) 08

(3) 24 (4) 64
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67 How many times the cube is cutted

out?

(1) 04 times (2) 08 times

(3) 09 times (4) 12 times

68 How many small cubes will be

whose three faces are coloured?

(1) 8 (2) 10

(3) 12 (4) 18

69 How many cubes will have one face

painted only?

(1) 24 (2) 28

(3) 30 (4) 32

70 How many cubes will be whoose

two faces are painted?

(1) 16 (2) 24

(3) 36 (4) 40

71 How many cubes will have no face

painted at all?

(1) 12 (2) 8

(3) 10 (4) 4

67 ?ku dks fdruh ckj dkVk x;k gSa\

(1) 04 ckj (2) 0 8 ckj

(3) 09 ckj (4) 12 ckj

68 ,sls fdrus NksVsa ?ku gksxsa ftudh rhu lrg jaxh gqbZ gSa\

(1) 8 (2) 10

(3) 12 (4) 18

69 ,sls fdrus ?ku gksxsa ftudh dsoy ,d gh lrg jaxh gqbZ

gSa\

(1) 24 (2) 28

(3) 30 (4) 32

70 ,sls fdrus ?ku gksxsa ftudh nks lrg jaxh gqbZ gSa\

(1) 16 (2) 24

(3) 36 (4) 40

71 ,sls fdrus ?ku gksxsa ftudh dksbZ Hkh lrg jaxh gqbZ ugha

gS\

(1) 12 (2) 8

(3) 10 (4) 4
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Directions (Q. 72 to 73) : A man

starts to walk and goes 3km north,

then turns to west and goes 2km.

He turns north and walks 1 km and

then moves 5km towards east.

72 How far is he from the starting

point?

(1) 11km (2) 5km

(3) 10km (4) 8km

73 In which direction he now may be

from the starting point?

(1) North

(2) East

(3) North - East

(4) West

Directions (Q. 74 to 75) : Six friends

are sitting around a dining table in

the following order.

(A) B is sitting opposite to D.

(B) E is sitting beside D and

opposite to C.

(C) A is on the left side of the

table facing F.

74 Who is sitting on the left hand side

of A?

(1) B (2) C

(3) E (4) A

funsZ’k ¼iz- 72 ls 73½ ,d vkneh pyuk vkjEHk djrk gS

vkSj og mRrj dh vksj 3 fdeh- tkrk gS fQj if’pe

dh vksj eqM+rk gS vkSj 2 fdeh- tkrk gSA og mRrj dh

vksj eqM+rk gS vkSj 1 fdeh- pyrk gS vkSj fQj iwjc dh

vksj 5 fdeh- pyrk gSA

72 vkjfEHkd LFkku ls og fdruh nwj gS\

(1) 11 fdeh- (2) 5 fdeh-

(3) 10 fdeh- (4) 8 fdeh-

73 vkjfEHkd LFkku ls og vc fdl fn’kk esa gks ldrk gS\

(1) mRrj

(2) iwoZ

(3) mRrj&iwoZ

(4) if’pe

funsZ’k % ¼iz- 74 ls 75½ 6 fe= Hkkstu dh est ds pkjksa

vksj fuEufyf[kr Øe esa cSBs gSaA

(A) B, D ds lkeus cSBs gSaA

(B) E,D ds lkFk cSBs gSa vkSj C ds

lkeus gSaA

(C) A Hkkstu dh est ds ck;ha vkSj F

ds lkeus gSA

74 A ds ck;ha vksj dkSu cSBk gS\

(1) B (2) C

(3) E (4) A
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75 Who is sitting on the right hand

side of F?

(1) B (2) E

(3) D (4) C

Directions : (Q. 76 to 80) Consider

the figures given below.

p q r
s

t u v

76 Which of the above figures is

embedded in the figure given

below?

(1) s (2) r

(3) p (4) u

77 Which of the above figures is not

embedded in the figure given

below?

(1) q (2) r

(3) s (4) p

75 F ds nk;ha vkSj dkSu cSBk gqvk gS\

(1) B (2) E

(3) D (4) C

funsZ’k % ¼iz- 76 ls 80½ uhps fn, fp= ij fopkj djsaA

p q r
s

t u v

76 dkSu lk mijksDr fp= uhps fn, x, fp= esa fufgr gS\

(1) s (2) r

(3) p (4) u

77 dkSu lk mijksDr fp= uhps fn, x, fp= esa fufgr ugha
gSA

(1) q (2) r

(3) s (4) p
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78 Which of the above figures is

embedded in the figure given

below?

(1) q (2) t

(3) u (4) s

79 Which of the above figures is not

embedded in the given pattern?

(1) p (2) q

(3) r (4) v

80 Which of the above figures is

embedded in the following figure?

(1) s (2) r

(3) q (4) v

Directions : (Q. 81 to 90) : Each of

the following questions consists of

two sets of figures. Figures A, B, C

and D constitute the problem set

while figures 1, 2, 3, and 4

78 dkSu lk mijksDr fp= uhps fn, x, fp= esa fufgr gS\

(1) q (2) t

(3) u (4) s

79 mijksDr esa ls dkSu lk fp= uhps fn, x, fp= esa
fufgr ugha gSa\

(1) p (2) q

(3) r (4) v

80 mijksDr esa ls dkSu lk fp= uhps fn, x, fp= esa
fufgr ugha gSa\

(1) s (2) r

(3) q (4) v

funsZ’k % ¼iz- 81 ls 90½ fuEukafdr iz’uksa esa fp=ksa ds nks
lewg gSaA fp= A, B, C vkSj D leL;k lewg cukrs
gSa tcfd fp= 1] 2] 3 vkSj 4 mRrj lewg cukrs gSaA
fp= A vkSj B esa ,d fuf’pr lEcU/k gSA mRrj lewg
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constitute the answer set, there is a

definite relationship between

figures A and B. Establish a similar

relationship between figures C and

D by choosing a suitable figure (D)

from the Answer set.

81 PROBLEM FIGURES

?

A B C D

ANSWER FIGURES

(1) (2)

(3) (4)

82 PROBLEM FIGURES

?

A B C D
ANSWER FIGURES

(1) (2)

(3) (4)

esa ls ,d mi;qDr fp= (D) dk p;u djrs gq, mUghsa
ds leku fp= C vkSj D esa lEcU/k LFkkfir djksaA

81 leL;k fp=

?

A B C D

mÙkj fp=

(1) (2)

(3) (4)

82 leL;k fp=

?

A B C D

mÙkj fp=

(1) (2)

(3) (4)
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83 PROBLEM FIGURES

?

A B C D
ANSWER FIGURES

(1) (2)

(3) (4)

84 PROBLEM FIGURES

?

A B C D

ANSWER FIGURES

(1) (2)

(3) (4)

85 PROBLEM FIGURES

?

A B C D

ANSWER FIGURES

(1) (2)

(3) (4)

83 leL;k fp=

?

A B C D

mÙkj fp=

(1) (2)

(3) (4)

84 leL;k fp=

?

A B C D

mÙkj fp=

(1) (2)

(3) (4)

85 leL;k fp=

?

A B C D

mÙkj fp=

(1) (2)

(3) (4)
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86 PROBLEM FIGURES

?

A B C D

ANSWER FIGURES

(1) (2)

(3) (4)

87 PROBLEM FIGURES

?

A B C D

ANSWER FIGURES

(1) (2)

(3) (4)

88 PROBLEM FIGURES

?

A B C D

ANSWER FIGURES

(1) (2)

(3) (4)

86 leL;k fp=

?

A B C D

mÙkj fp=

(1) (2)

(3) (4)

87 leL;k fp=

?

A B C D

mÙkj fp=

(1) (2)

(3) (4)

88 leL;k fp=

?

A B C D

mÙkj fp=

(1) (2)

(3) (4)
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89 PROBLEM FIGURES

?

A B C D

ANSWER FIGURES

(1) (2)

(3) (4)

90 PROBLEM FIGURES

?

A B C D

ANSWER FIGURES

(1) (2)

(3) (4)

89 leL;k fp=

?

A B C D

mÙkj fp=

(1) (2)

(3) (4)

90 leL;k fp=

?

A B C D

mÙkj fp=

(1) (2)

(3) (4)
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91 Which of the following is not a unit

of time?

(1) Solar year

(2) Tropical year

(3) Leap year

(4) Light year

92 An athlete runs some distance

before taking a long jump because

(1) It helps to apply a large force

(2) By running the athlete gives

himself larger inertia of motion.

(3) It gains energy to take him

through large distance

(4) By running action and reaction

force increases

93 Sound waves are also called as

(1) Elastic waves

(2) Electric waves

(3) Magnetic waves

(4) Light waves

91 buesa ls dkSu lk le; dk ek=d ugha gS \

(1) lksyj o”kZ

(2) m”.kdfVcaa/kh; o”kZ

(3) yhi o”kZ

(4) izdk’k o”kZ

92 yEch dwn ls igys f[kykM+h dqN nwj ls Hkkxdj

vkrk gS] D;ksafd

(1) mls vf/kd cy yxkus esa enn~ feyrh gSA

(2) nkSM+dj vkus ls f[kykM+h vius vkidks vf/kd

xfr tM+Ro iznku djrk gSA

(3) blls f[kykM+h vf/kd mtkZ izkIr djrk

gS rkfd nwj rd dwn ldsA

(4) nkSM+dj vkus ls fØ;k rFkk izfrfØ;k

dk cy c<+ tkrk gSA

93 /ofu rjxsa fdl izdkj dh rjxsa gSA

(1) izR;kLFk rjxsa

(2) fo|qr rjxsa

(3) pqEcdh; rjxsa

(4) izdk’k rjxsa

PART - II
SCHOLASTIC APTITUDE TEST

‘kSf{kd {kerk ijh{k.k
Questions : 90 to 180

¼Hkkx- II½
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94 Density of water is

(1) 1000 kg m/s

(2) 1000mg/m3

(3) 100 mg / m3

(4) 100m3 / kg

95 An astronaut feels his weight in

space

(1) Infinite

(2) Smaller than on the earth

(3) Zero

(4) More than on the earth

96 Why sound heard when a rod

strikes a school bell.

(1) The air particles from the bell

flow into our ears.

(2) The air particles from the bell

vibrates and pass the signal to

our ears.

(3) The air particles from the bell

vibrate and produce longitudinal

waves which flow through the

air into our ears.

(4) The wavelength of sound waves

is large enough to produce

sound.

97 Phases of moon occur because

(1) We can see only that part of

moon which reflects light

towards us.

(2) Our distance from moon keeps

changing.

(3) The shadow of earth covers

only a part of moon’s surface

(4) Thickness of moon’s

atmosphere is not constant.

94 ikuh ds ?kuRo dk eku gSA

(1) 1000 fd-xzk- ehVj izfr lSfd.M

(2) 1000 feyh xzk- izfr ?ku ehVj

(3) 100 feyh xzk- izfr ?ku ehVj

(4) 1000 ?kuehVj izfr fd- xzk-

95 ,d varfj{k ;k=h dks varfj{k esa viuk Hkkj yxrk
gSA
(1) vuUr
(2) ìFoh ij Hkkj ls de
(3) ‘kwU;
(4) ìFoh ij Hkkj ls vf/kd

96 tc ,d NM+ dks fo|ky; dh ?kaVh ij ekjk tkrk gS

rks gesa /ofu lqukbZ nsrh gS D;ksafd

(1) ok;q ds d.k ?kaVh ls gekjs dkuksa rd

igq¡prs gSA

(2) ?kaVh ls ok;q ds d.kksa esa dEiu iSnk

gksrh gS vkSj o flxuy dks gekjs dkuksa rd

Hkstrs gSaA

(3) ?kaVh ls ok;q ds d.kksa esa daiu ds

dkj.k vuqnS/;Z rjxsa iSnk gksrh gS tks

gekjs dkuksa rd igq¡prh gSA

(4) /ofu dh rajxnS/;Z cM+h gksus ds dkj.k

;g /ouh dks iSnk djrh gSA

97 pUnzek dh fofHkUu dykvksa ds ?kfVr gksus dk dkj.k%
(1) ge pUnzek dk og fgLlk ns[k ikrs gS

tks izdk’k dks gekjh vkSj ijkofrZr djrk gSA
(2) pUnzek ls gekjh nwjh yxkrkj cnyrh

jgrh gSA
(3) ìFoh dh ijNkbZ pUnzek ds dqN fgLls

ij iM+rh gSA
(4) pUnzek ij ok;qe.My dh eksVkbZ

cnyrh jgrh gSA
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98 Which one of the following is best

conductor of electricity ?

(1) Silver (2) Gold

(3) Carbon (4) Diamond

99 A ball placed on a table starts

rolling when table is tilted. Which is

the force that causes the motion?

(1) Friction

(2) Push by table

(3) Rolling force

(4) Gravitational pull by earth

100 Pressure affects the boiling and

freezing point of water. Extreme

pressure under a glacier can cause

the ice to melt at temperature

(1) above 00C

(2) below 00C

(3) around 00C

(4) at 00C

101 On holding a stainless steel spoon

near our face, we see

(1) Our laterally inverted image on

inner side of spoon.

(2) Our inverted image on inner

side of spoon.

(3) Our inverted image on outer

side of spoon.

(4) Our erect image on inner side of

spoon.

98 buesa ls dkSu lk inkFkZ fo|qr dk lcls vf/kd

lqpkyd gS \

(1) pkanh (2) lksuk

(3) dkcZu (4) ghjk

99 est dks ,d rjQ >qdkus ij ml ij iM+h xsan ?kwerh

gqbZ uhps yqM+drh gSA fdl cy ds dkj.k xsan ?kwerh

gqbZ tkrh gS \

(1) ?k”kZ.k

(2) est ds /kdsyus ds dkj.k

(3) /kw.kZu cy

(4) xq:Ro cy

100 ncko ikuh ds DoFkukad vkSj fgekad fcUnq ij izHkko

Mkyrk gSA Xysf’k;j ds uhps vR;f/kd ncko ds

dkj.k cQZ fdl rkieku ij fi?kyuk ‘kq: gks tkrh

gSA

(1) 00C ls vf/kd ij

(2) 00C ls de ij

(3) 00C ds vklikl rkieku ij

(4) 00C ij

101 ,d LVsuysl LVhy ds pEep dks psgjs ds ikl j[kus

ij ge ns[krs gSa fd

(1) pEep ds vUnj dh rjQ ik’oZ rFkk mYVk

izfrfcac fn[kkbZ nsxkA

(2) pEep ds vUnj dh rjQ mYVk izfrfcac

fn[kkbZ nsxkA

(3) pEep ds ckgj dh rjQ mYVk izfrfcac

fn[kkbZ nsxkA

(4) pEep ds vUnj dh rjQ lh/kk izfrfcac

fn[kkbZ nsxkA
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102 Which of the following cannot be

charged by friction.

(1) A woollen cloth

(2) An inflated balloon

(3) A plastic Scale

(4) A copper rod

103 Which of the following is the

electronic configuration of a non -

metal :

(1) 2, 8, 1 (2) 2, 8, 2

(3) 2, 8 (4) 2, 8, 7

104 Burning of wood charcoal does not

produce flame because

(1) Calorific value of wood charcoal

is less.

(2) Flame of wood charcoal is

invisible.

(3) Wood charcoal does not

vaparises.

(4) Ignition temperature of wood

charcoal is high.

105 Match the following

List - 1 List - 2

A L.P.G. 1.  Motor fuel and dry

cleaning

B Diesel 2. Fuel used in house and

industry

C Kerosene 3. Fuel for heavy vehicles

and gensets

D Petrol 4. Fuel for stove, lamp

A B C D

1. 3 4 1 2

2. 2 3 4 1

3. 2 1 3 4

4. 1 2 3 4

102 buesa ls fdldks ?k”kZ.k ds }kjk vkosf’kr ugha fd;k
tk ldrk gSA
(1) Åuh oL=
(2) Qwyk gqvk xqCckjk
(3) IykfLVd dk Ldsy
(4) rkacs dh NM

103 fuEu esa ls dkSu lk bySDVªksfud foU;kl ,d v/kkrq
dk gks ldrk gS%
(1) 2, 8, 1 (2) 2, 8, 2

(3) 2, 8 (4) 2, 8, 7

104 ydM+h dk dks;yk tyrs le; Tokyk dk fuekZ.k
ugha djrk D;ksafd
(1) ydM+h ds dks;yk dk Å”eh; eku de gksrk

gSA
(2) ydM+h ds dks;ys dh Tokyk vǹ’; gksrh gSA
(3) ydM+h dk dks;yk okf”ir ugha gksrkA
(4) ydM+h ds dks;yk dk Toyu rki vf/kd gSA

105 fuEu dk feyku djsaA
lwph - 1 lwph - 2

A L.P.G. 1. eksVj baZ/ku o ‘kq”d
/kqykbZ

B Mhty 2. ?kjksa o m|ksxksa esa bZa/ku
ds :i esa

C feV~Vh dk rsy 3. Hkkjh eksVj okgu o tsu lsV
dk bZa/ku

D iSVªksy 4. LVkso o ySai dk bZa/ku
A B C D

1. 3 4 1 2

2. 2 3 4 1

3. 2 1 3 4

4. 1 2 3 4
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106 A plastic which is bad conductor of

heat and electricity is used to

manufacture electrical switches

and handles of utensils. the plastic

may be

(1) Bakelite (2) Polyethene

(3) Melamine (4) P.V.C.

107 A + H2SO4  ZnSO4 + H2 What is A

in above reaction?

(1) Mg (2) Zn

(3) NH3 (4) NaOH

108 Which out of following is not a

natural fibre?

(1) Jute (2) Wool

(3) Cotton (4) Nylon

109 Which of the following acids is

called the king of  acids?

(1) Acetic acid

(2) Phosphoric acid

(3) Sulphuric acid

(4) Oxalic acid

110 Calorific value is the amount of

heat energy produced by complete

combustion of how much amount

of fuel?

(1) 1g (2) 1kg

(3) 100g (4) 10g

106 ,d IykfLVd tks Å”ek o fo|qr dk dqpkyd gS]

fo|qr fLop o cjruksa ds gSaMy cukus ds dke vkrk

gSA ;g IykfLVd gks ldrk gSA

(1) csdkykbV (2) iksyhbFkhu

(3) esykekbu (4) ih- oh- lh-

107 A + H2SO4  ZnSO4 + H2 mijksDr

jk;k;fud vfHkfØ;k esa A D;k gSa\

(1) Mg (2) Zn

(3) NH3 (4) NaOH

108 fuEu esa ls dkSu lk izkdf̀rd js’kk ugha gS\

(1) iVlu ¼twV½ (2) Åu

(3) dikl (4) ukbZyksu

109 fuEu vEyksa esa ls dkSu lk vEy] vEyksa dk jktk

dgykrk gS\

(1) ,lhfVd vEy

(2) QkslQksfjd vEy

(3) lYQ;wfjd vEy

(4) vkWDlsfyd vEy

110 Å”eh; eku fdlh bZZa/ku dh fdruh ek=k ds iw.kZ

ngu ls izkIr Å”ek ÅtkZ dh ek=k dks dgrsa gS\

(1) 1g (2) 1kg

(3) 100g (4) 10g
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111 An amalgam of a metal has which

other element?

(1) C (2) Ag

(3) Mg (4) Hg

112 Water gas in a mixture of

(1) CO and N2   (2) CO2 and H2

(3) CO and H2   (4) CO2 and N2

113 The lowest temperature at which a

substance catches fire is called its:

(1) Boiling Point

(2) Critical temperature

(3) Melting point

(4) Ignition temperature

114 In which female reproductive organ

does the embryo get embedded?

(1) Uterus (2) Oviduct

(3) Ovary (4) Testis

115 Increase in temperature due to the

increase in the Carbon-di-oxide gas

in the air leads to___

(1) Green Revolution

(2) Green Environmental Effect

(3) Green House Effect

(4) Green City Effect

111 ,d /kkrq ds veyxe (amalgam) esa nwljk rRo

dkSu lk gksrk gS\

(1) C (2) Ag

(3) Mg (4) Hg

112 ty xSl fuEu esa ls dkSu lk feJ.k gS\

(1) CO and N2   (2) CO2 and H2

(3) CO and H2   (4) CO2 and N2

113 og U;wure rki ftl ij dksbZ inkFkZ tyus yxrk gS

og mldk D;k dgykrk gS\

(1) DoFkukad

(2) fØVhdy rki

(3) xyukad

(4) Toyu rki

114 fdl eknk tuukax esa Hkzw.k jksfir gksrk gS\

(1) xHkkZ’k; (2) vaMokfguh

(3) vaMk’k; (4) ò”k.k

115 ok;q esa dkcZu&MkbZ&vkWDlkbZM dh ek=k c<+us ls

rkieku esa of̀) gksus dkj.k-------- gksrk gSA

(1) gfjrØkafr

(2) gfjr okrkoj.kh; izHkko

(3) gfjr ?kj izHkko

(4) gfjr ‘kgj izHkko
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116 Name the male hormone

responsible for secondary sexual

characters.

(1) Estrogen (2) Thyroxin

(3) Insulin (4) Testosterone

117 Which of the following is essential

for the production of thyroxin that

changes a tadpole to a frog?

(1) Sodium (2) Iodine

(3) Nitrogen (4) Oxygen

118 Select the statement which is not

true about ‘Fertilisers’

(1) Fertilisers are manmade

inorganic salts.

(2) Fertilisers don’t provide humus

to the soil.

(3) Fertilisers are only rich source of

nitrogen and phosphorus, but

for potassium we have to

depend upon manure.

(4) The term organic farming is not

related to fertilisers.

116 ml ikS:”k gkeksZu dk uke crk, tks xkS.k ySafxd

y{k.kksa ds fy, ftEesokj gSA

(1) ,LVªkstu (2) Fkk;jkWfDlu

(3) bUlwfyu (4) VsLVksLVsjkWu

117 esa<+d esa Fkk;jkWbM }kjk L=kfor gkeksZu Fkk;jkWfDlu

tks blds ykjok ls O;Ld cuus esa lgk;d gS] ds

fy, fuEu esa ls dkSu&lk rÙo vko’;d gS\

(1) lksfM;e (2) vk;ksfMu

(3) ukbZVªkstu (4) vkWDlhtu

118 jklk;fud [kkn ls lEcfU/kr tks rF; lgh ugha gS

mls pqusaA

(1) jklk;fud [kkn~ euq”; }kjk fufeZr vtSfod

yo.k gSA

(2) jklk;fud [kkn~ feV~Vh dks gwel iznku

ugha djrhA

(3) jkl;fud [kkn~ ukbZVªkstu vkSj QkLQksjl dk

Hkjiwj lzksr gS ijUrq ikSVkf’k;e ds fy, gesa

tSfod [kkn~ ij fuHkZj jguk i<+rk gSA

(4) tSfod [ksrh ‘kCn jklk;fud [kkn~ ls

lEcfU/kr ugha gSA
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119 The term “Fermentation” is used for

the process that is used to:

(1) produce vaccine to prevent

various diseases.

(2) convert sugar in alcohol

(3) fix atmospheric nitrogen in the

soil and thus increase its fertility.

(4) help in cleaning air from

pollutants.

120 Select the Endemic Species of

Panchmarhi Biosphere from the

given options.

(1) Flying Squirrel

(2) Elephant

(3) Wild Cat

(4) Neem Tree

121 Plant cell differ from animal cells in

having additional layer around the

cell membrane. This layer is known

as:

(1) Cell coat

(2) cell plasma

(3) cell envelope

(4) cell wall

122 In Delhi - NCR we observed a thick

fog like layer in the atmosphere

during winters. This is called as

SMOG which is made up of:

(1) Carbon-di-oxide and water

(2) smoke and fog

(3) dust and smoke

(4) smoke and carbon-di-oxide

119 ^fd.ou* ‘kCn dk mi;ksx ,d fØ;k ds fy, fd;k

tkrk gSA ftlds }kjk&

(1) fofHkUu jksxksa ls cpko ds fy, Vhdk cuk;k

tkrk gSA

(2) phuh dks ,Ydksgy esa ifjoZfrr fd;k tkrk gSA

(3) ok;qe.Myh; ukbVªkstu dk eǹk esa fLFkjhdj.k
gksrk gS RkFkk mldh moZjrk esa òf) gksrh gSA

(4) ok;q dk iznw’kdksa ls ‘kqf)dj.k djus esa
en~n djrk gSA

120 fn, x, fodYiksa esa ls fo’ks”k {ks=h iztkfr pqusa tks
iape<+h tSoe.My vkjf{kr {ks= esa ikbZ tkrh gSA
(1) mMus okyh fxygjh
(2) gkFkh
(3) taxyh fcYyh
(4) uhe dk isM+

121 ikni dksf’kdk tUrq dksf’kdk ls fHkUu gksrh gSA
D;ksafd dksf’kdk f>Yyh ds pkjksa vkSj ,d vfrfjDr
ijr gksrh gS tks dgykrh gS%
(1) dksf’kdk dksV
(2) dksf’kdk IykTek
(3) dksf’kdk vkòr
(4) dksf’kdk fHkfÙk

122 lfnZ;ksa ds le; fnYyh&,ulhvkj ds ok;qe.My esa
,d ?kuh dksgjs dh ijr utj vkrh gSA bls  /kaqvklk
(SMOG) dgrs gSA ;g cuh gksrh gS%
(1) dkcZu&MkbZ&vkDlkbZM o ikuh ls
(2) /kw,a vkSj dksgjs ls
(3) /kwy vkSj /kw,a ls
(4) /kw,a vkSj dkcZuMkbZ&vkWDlkbZM ls
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123 The main function of Adrenal Gland

in the humans is:

(1) Maintain the correct salt balance

in the blood.

(2) Helps the body to adjust to the

stress when one is very angry,

embarrass or worried.

(3) both (1) & (2)

(4) neither (1) nor (2)

124 Adam’s Apple is a common name of:

(1) a variety of apple grown in

Kashmir.

(2) musical instrument.

(3) an emblem of IndiaCompany.

(4) growing voice box of boys can

be seen as protruding part of

throat.

125 With a microscope of higher

magnification a smaller spherical

darkley stained body in the nucleus

is observed. Which is a:

(1) gene (2) chromosome

(3) nucleolus (4) nucleoplasm

126 Solve and simply to lowest terms

3
1

 x
4

4-
 x

4
4

(1)
3
4

(2)
3
1

(3) 1 (4)
3
4

123 euq”; esa ,fMªuy xzafFk dk eq[; dk;Z gS%

(1) :f/kj esa ued dh ek=k dks larqfyr djukA

(2) Øks/k] fpark ,oa mÙkstuk voLFkk esa ruko ds

la;kstu djukA

(3) (1) o (2) nksuksa

(4) (1) o (2) esa ls dksbZ ugha

124 ^,sMWEl ,siy* ,d lkekU; uke gSA

(1) ,d lsc dh fdLe dk tks d’ehj esa mxkbZ

tkrh gSA

(2) ,d laxhr ok| dk

(3) ,d Hkkjrh; daiuh ds izrhd dk

(4) yM+dksa esa c<+rs gq, ^Loj;a=* dk tks xys ds

lekus dh vkSj lqLi”V mHkjs Hkkx ds :i esa

fn[kkbZ nsrk gSA

125 mPp vko/kZu {kerk okys lw{en’khZ ls ns[kus ij

dsUnzd esa ,d NksVh l?ku o xgjs jax dh lajpuk

fn[kkbZ nsrh gS tks gS ,d%

(1) xq.k             (2) xq.klw=

(3) dsfUnzdk ¼U;wfDyvksyl½ (4) dsUVªd nzO;

126 fuEure Lrj rd gy djsaA

3
1

 x
4

4-
 x

4
4

(1)
3
4

(2)
3
1

(3) 1 (4)
3
4
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127 If the sum of three consecutive

multiples of 5 is 300. Find the

numbers.

(1) 99, 104, 109

(2) 95, 100, 105

(3) 100, 105, 110

(4) 105, 110, 115

128 A survey was done in a school and

following graph chart shows number of

hours for which students study in a

day during holidays.

1 0

2 0

3 0

4 0

5 0

6 0

7 0

8 0

9 0

1 0 0

1 2 3 4 5 6 7

H o u rs

No
of

St
ud

en
ts

How many students study for less

than 3 hours?

(1) 70 (2) 40

(3) 60 (4) 50

129 There are 24 students in a class,

out of which 11 are girls. It a

teacher randomly picks a student,

what is the probability that the

students picked is a boy?

(1)
24

11
(2)

24

13

(3)
24

1
(4)

24

24

127 ;fn 5 ds xq.kt rhu Øexr la[;kvksa dk tksM 300
gS rks la[;k,a gksxh\

(1) 99, 104, 109

(2) 95, 100, 105

(3) 100, 105, 110

(4) 105, 110, 115

128 ,d Ldwy esa ,d losZ{k.k fd;k x;k vksj NqfV~V;ksa ds
nkSjku fo|kfFkZ;ksa ds i<+kbZ dks fn, tkus okys ?kaVksa dks
,d xzkQ pkVZ esa fn[kk;k x;kA

10

20

30

40

50

60

70

80

90

100

1 2 3 4 5 6 7

?k aV s

Nk=
sd

sl
a[;

k

fdrus fo|kfFkZ;ksa us rhu ?kaVsa ls Hkh de i<+kbZ dh \

(1) 70 (2) 40

(3) 60 (4) 50

129 ,d d{kk esa 24 fo|kFkhZ gSaA ftuesa ls 11 yMfd;ka
gSaA ;fn v/;kid fdlh ,d fo|kFkhZ dks pqurk gS rks
mlds yM+dk gksus dh D;k lEHkkouk gksxh \

(1)
24

11
(2)

24

13

(3)
24

1
(4)

24

24
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130 Which is the smallest number that

can be used to divide 383328 to

give a perfect square?

(1) 22 (2) 21

(3) 32 (4) 13

131 Which of the following choices is

the value of 3 729-
(1) -9 (2) -5

(3) 2 (4) -11

132 Pradip sells his two cycles at the

rate of Rs 200 each. On one cycle

he gains 6% while on other cycle he

incurs a loss of 6%. Find his total %

loss/gains in whole transactions.

(1) No profit, No loss

(2) 3.6% loss

(3) 0.36% loss

(4) 0.36% profit

133 Harsh borrowed Rs. 8640 from

Divya at the rate of 14% simple

interest per year. He then returned

the money after 3 year and 10

months. How much money he

returned?

(1) 13276.8 (2) 4636.8

(3) 14636.8 (4) 3276.8

134 Find compound interest on Rs.

10000 for 3 years at 2% per annum

compounded annually.

(1) 673.288 (2) 612.08

(3) 629.08 (4) 550.872

130 og dkSu lh lcls NksVh la[;k gS ftlls 383328 dks
Hkkx djus ij HkkT;Qy iw.kZ oxZ izkIr gks \

(1) 22 (2) 21

(3) 32 (4) 13

131 buesa ls dkSu lh la[;k 3 729-  dk eku gksxh

(1) -9 (2) -5

(3) 2 (4) -11

132 iznhi us nks lkbZfdy :% 200 izR;sd lkbZfdy csphA
,d lkbZfdy ij mldks 6% ykHk gqvk vkSj nwljh
ij 6% gkfuA mldk dqy gkfu@ykHk % D;k
gksxk

(1) uk ykHk] uk gkfu

(2) 3.6% gkfu

(3) 0.36% gkfu

(4) 0.36% ykHk

133 g”kZ us fnO;k ls :- 8640 m/kkj fy, ftldh nj
14% lk/kkj.k C;kt lkykuk FkhA mlus iSlk rhu
lky nl eghus ds ckn okfil dj fn;kA mlus
fdruk iSlk okfil fd;k \

(1) 13276.8 (2) 4636.8

(3) 14636.8 (4) 3276.8

134 10000 :i;s dk 2% izfro”kZ dh nj ls 3 o”kZ ds
fy, pØof̀) C;kt D;k gksxk tcfd C;kt okf”kZd
la;ksftr gksrk gSA

(1) 673.288 (2) 612.08

(3) 629.08 (4) 550.872
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135 Simplify  (ab-3bc)2 + 6ab2c

(1) a2b2+ab2c2-ab2c

(2) a2b2+9b2c2+6ab2c

(3) a2b2+9b2c2

(4) 9a2b2+b2c2

136 Simplify the following expression

(3x+2) x (3x+1) x (-2x+1)

(1) -18x3 - 9x2 + 5x+2

(2) -18x3 - 9x2 - 5x + 2

(3) -18x3 + 9x2 + 5x +2

(4) 18x3 - 9x2 + 5x + 2

137 Find the volume of a cube whose

total surface area is 486cm2

(1) 81cm3 (2) 729cm3

(3) 486cm3 (4) 786cm3

138 Find the value of m for which

5m   5-3 = 55

(1) 3 (2) 1

(3) 2 (4) 4

139 If a box of sweets is divided among

24 children, they will get 5 sweets

each. How many would each get. If

the number of the children is

reduced by 4?

(1) 4 (2) 6

(3) 8 (4) 2

140 Simplify 12a8b8  (-6a6b4)

(1) 2a2 b4 (2) -2a2b4

(3) a2b4 (4) -a2b4

135 gy djksa % (ab-3bc)2 + 6ab2c

(1) a2b2+ab2c2-ab2c

(2) a2b2+9b2c2+6ab2c

(3) a2b2+9b2c2

(4) 9a2b2+b2c2

136 gy djsa %
(3x+2) x (3x+1) x (-2x+1)

(1) -18x3 - 9x2 + 5x+2

(2) -18x3 - 9x2 - 5x + 2

(3) -18x3 + 9x2 + 5x +2

(4) 18x3 - 9x2 + 5x + 2

137 ml ?ku dk vk;ru Kkr djks ftldk i”̀Bh;
{ks=Qy 486cm2 gSA

(1) 81cm3 (2) 729cm3

(3) 486cm3 (4) 786cm3

138 m dk eku Kkr djsa 5m   5-3 = 55

(1) 3 (2) 1

(3) 2 (4) 4

139 ;fn 24 cPpksa esa ,d fMCck feBkbZ bl rjg ckaVh
tk, dh gj ,d dks 5 feBkbZ feysaA ;fn cPpksa dh
la[;k 4 de dj nh tk, rks gj ,d dks fdruh
feBkbZ feysxhA

(1) 4 (2) 6

(3) 8 (4) 2

140 gy djsa 12a8b8  (-6a6b4)

(1) 2a2 b4 (2) -2a2b4

(3) a2b4 (4) -a2b4


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141 Find the angle X in the following

figure

3 0 0

x x

6 0 07 0 0

(1) 120 (2) 140

(3) 150 (4) 160

142 How many sides does a regular

polygon have if each of its interior

angle is 1650

(1) 24 (2) 22

(3) 26 (4) 20

143 Following graph shows the yearly

sales figure for a manufacturing

company

Compute the difference between

the sales of 2002 and 2006

(1) 4 crore (2) 2 crore

(3) 8 crore (4) 6 crore

144 Minimum faces of a polyhedron are

(1) 6 (2) 4

(3) 8 (4) 2

141 nh xbZ vkdf̀r esa dks.k X dk eku Kkr djksa

3 0 0

x x

6 0 07 0 0

(1) 120 (2) 140

(3) 150 (4) 160

142 ,d fu;fer cgqHkqt dh fdruh Hkqtk,sa gksxh vxj gj

,d vUr% dks.k dk eki 1650 gksA

(1) 24 (2) 22

(3) 26 (4) 20

143 uhps fn;k x;k xzkQ ,d dEiuh dh fcØh dk
vkdMka fn[kkrk gSA

2002 o 2006 esa fcØh dk vUrj crk;sa

(1) 4 crore (2) 2 crore

(3) 8 crore (4) 6 crore

144 ,d cgqry ds U;wUre i”̀B gksxsaA

(1) 6 (2) 4

(3) 8 (4) 2
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145 If Chameli had Rs. 600 left after

spending 75% of her money, how

much did she have in the

beginning?

(1) 2400 (2) 2000

(3) 1500 (4) 3000

146 What is kept in the National Archives of

India?

(1) Historical Records

(2) Dresses of Mughal Emperors

(3) Tools and weapons of the early

man

(4) Bones and clay tablets of early

man

147 Which of the following rulers is also

known as ‘Tiger of Mysore’

(1) Mir Jafar

(2) Mir Kasim

(3) Alivardi Khan

(4) Tipu Sultan

148 The demand for which crop

increased in 18th Century Britain

due to industrialization?

(1) Clove (2) Maize

(3) Indigo (4) Tea

149 When did British Government pass

an act banning the use of printed

cotton textiles in England?

(1) 1724 (2) 1720

(3) 1725 (4) 1726

145 ;fn pesyh ds ikl dqy iSls ds 75% dks [kpZ djus

ds ckn :- 600 #i;s cps rks ‘kq:vkr esa mlds ikl

fdruh jkf’k Fkh\

(1) 2400 (2) 2000

(3) 1500 (4) 3000

146 Hkkjr ds jk”Vªh; vfHkys[kkxkj esa D;k j[kk tkrk gS\

(1) ,frgkfld fjdkMZ

(2) eqxy ckn’kkgksa dh iks’kkd

(3) vkjfEHkd ekuo ds vkST-kkj o gfFk;kj

(4) vkjfEHkd ekuo dh gfM~M;k o èr&ifV~Vdk,¡

147 fuEufyf[kr esa ls fdl ‘kkld dks ^eSlwj ds ‘ksj* ds
:i esa Hkh tkuk tkrk gSA
(1) ehj tkQj

(2) ehj dkfle

(3) vyhonhZ [kku

(4) Vhiw lqYrku

148 vkS|ksfxdj.k ds dkj.k 18oha lnh ds fczVsu esa fdl

Qly dh ekax c<+ xbZ\

(1) yksax (2) eDdk

(3) uhy (4) pk;

149 fczfV’k ljdkj us Nis gq, lwrh diM+s ds iz;ksx ij ikcanh

laca/kh fu;e dc ikfjr fd;k\

(1) 1724 (2) 1720

(3) 1725 (4) 1726
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150 Who was a severe critic of Orientalists?

(1) James Mill

(2) Thomas Colebrooke

(3) William Jones

(4) William Bentinck

151 Who wrote the book ‘Gulamgiri’?

(1) Shri Narayan Guru

(2) Jyoti Rao Phuley

(3) Haridas Thakur

(4) Periyar Swami

152 Most of adivasis followed which

type of cultivation?

(1) Intense (2) Horticulture

(3) Zhoom (4) Mixed Form

153 Which of the following place was

not a centre of the great uprising of

1857.

(1) Meerut (2) Delhi

(3) Lucknow (4) Lahore

154 When did Delhi become Capital of

British India?

(1) 1758 (2) 1911

(3) 1947 (4) 1907

155 Kharra artists belonged to

(1) Chennai (2) Mumbai

(3) Kalighat (4) Chhattisgarh

150 izkP;okn ds dVq vkykspd dkSu Fkk\
(1) tsEl fey

(2) VkWel dksyczqd

(3) fofy;e tksal

(4) fofy;e casfVd

151 ^xqykefxjh* iqLrd ds ys[kd gS%&

(1) Jh ukjk;.k xq:

(2) T;ksfrjko Qqys

(3) gfjnkl Bkdqj

(4) isfj;kj Lokeh

152 vf/kdka’k vkfnoklh fdl izdkj dh [ksrh djrs
Fks \
(1) xgu (2) ckxkuh
(3) >we (4) fefJr&:i

153 fuEufyf[kr esa ls dkSu lk LFkku lu~ 1857 ds egku

fonzksg dk dsanz ugh Fkk\

(1) esjB (2) fnYyh

(3) y[kuÅ (4) ykgkSj

154 fnYyh fczfV’k & Hkkjr dh jkt/kkuh dc
cuh\

(1) 1758 (2) 1911

(3) 1947 (4) 1907

155 [kjkZ fp=dkjksa dk laca/k fdl ls Fkk\

(1) psUubZ (2) eqEcbZ

(3) dkyh?kkV (4) NÙkhlx<+
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156 When did Quit India Movement start?

(1) March, 1942

(2) August, 1942

(3) September, 1942

(4) December, 1942

157 When did Haryana State come into

being?

(1) 1963 (2) 1950

(3) 1965 (4) 1966

158 Haryana does not share boundary

with

(A) Uttrakhand

(B) Himachal Pradesh

(C) Rajasthan

(D) Madhya Pradesh

(1) A & D (2) C & D

(3) A & B (4) D

159 What is a population Pyramid?

(1) A graphical presentation of the age,

sex composition of population.

(2) When the population density of

an area is so high that people

live in tall buildings.

(3) Pattern of Population in big

cities

(4) Population Density

160 Green diamond is found in :

(1) Antarctica

(2) Africa

(3) North America

(4) Australia

156 Hkkjr NksM+ks vkanksyu dc vkjaEHk gqvk\

(1) ekpZ] 1942

(2) vxLr] 1942

(3) flrEcj] 1942

(4) fnlEcj] 1942

157 gfj;k.kk jkT; vfLrRo esa dc vk;k\

(1) 1963 (2) 1950

(3) 1965 (4) 1966

158 gfj;k.kk dh lhek fdl jkT; ls ugha yxrh
gS\
(A) mÙkjk[k.M
(B) fgekpy izns’k
(C) jktLFkku
(D) e/; izns’k
(1) A & D (2) C & D

(3) A & B (4) D

159 tula[;k fijkfeM+ D;k gS\

(1) tula[;k dk vk;q fyax la/kVu dk

vkysf[k; fu:i.kA

(2) tc fdlh {ks= dk tu/kuRo bruk c<+

tkrk gS fd yksx Å¡ph bekjrksa esa jgrs gSaA

(3) cM+s uxjh; {ks=ksa esa tula[;k forj.k dk

izfr:i tula[;k /kuRoA

(4) tula[;k /kuRoA

160 gjk ghjk ik;k tkrk gS %
(1) vaVkdZfVdk
(2) vÝhdk
(3) mÙkj vesfjdk
(4) vkLVªsfy;k
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161 What is Alfa - Alfa?

(1) Tree (2) Industry

(3) Grass (4) Plant

162 The place where a river meets an

ocean or sea known as?

(1) Delta

(2) Head of river

(3) Mouth of river

(4) None of these

163 In which ocean does Tonga island

locate?

(1) Indian Ocean

(2) Atlantic Ocean

(3) Pacific Ocean

(4) Arctic Ocean

164 Which state functions as water

divide region between Indus river

system and Ganga river system?

(1) Jammu and Kashmir

(2) Haryana

(3) Punjab

(4) Himachal Pradesh

165 Eastern Tamilnadu gets rainfall

from which winds?

(1) South -West Winds

(2) South - East Winds

(3) North East Winds

(4) None of these

161 vYQk vYQk D;k gksrk gS\

(1) isM+ (2) m|ksx

(3) ?kkl (4) ikS/kk

162 tgk¡ unh] egklkxj vFkok lkxj esa feyrh gS ml
LFkku dks D;k dgk tkrk gS\

(1) MsYVk
(2) unh dk ‘kh”kZ
(3) eqgkuk

(4) buesa ls dksbZ ugha

163 Vksxka }hi lewg dkSu ls egklkxj esa fLFkr gS\

(1) fgUn egklkxj

(2) va/k egklkxj

(3) iz’kkar egklkxj

(4) vkdZfVd egklkxj

164 dkSu lk jkT; fla/kq unh ra= ,oa xaxk unh ra= ds

e/; ty foHkktd ds :i esa dk;Z djrk gS\

(1) tEew vkSj d’ehj

(2) gfj;k.kk

(3) iatkc

(4) fgekpy izns’k

165 iwohZ rfeyukMw esa o”kkZ fdu iouksa }kjk gksrh gS\

(1) nf{k.kh if’pe iousa

(2) nf{k.k iwohZ iousa

(3) mÙkjh iwohZ iousa

(4) buesa ls dksbZ ugha
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166 Saal tree mainly found in which

type of forests?

(1) Tropical Evergreen Forests

(2) Thorny Forests

(3) Tropical deciduous Forests

(4) Mangrove Forests

167 Continents consist mainly which

igneous rocks?

(1) Basalt

(2) Granite

(3) Niese

(4) None of these

168 Golden fibre refers to

(1) Coffee (2) Jute

(3) Tea (4) Cotton

169 When was the constitution of India

prepared?

(1) November 1946

(2) November 1947

(3) November 1948

(4) November 1949

170 How many members are nominated

by the President in Lok Sabha

(1) 2 (2) 4

(3) 10 (4) 12

166 lky o{̀k eq[;r fdu ouksa esa ik;k tkrk gSa\

(1) m”.k dfVca/kh; lnkgfjr ou

(2) daVhys ou

(3) m”.k dfVca/kh; ir>+M+ ou

(4) eSxzksao ou

167 egk}hiksa esa eq[;r% dkSu lh vkXus; pV~Vku ikbZ
tkrh gS \

(1) cslkYV

(2) xzsukbV

(3) uhl

(4) buesa ls dksbZ ugha

168 ^lqugjk js’kk* ls vfHkizk; gS&
(1) dkWQh (2) twV

(3) pk; (4) dikl

169 H k kjr dk l a fo/ k ku dc cu dj r S;kj
g qvk\
(1) uoacj] 1946 dks
(2) uoEcj 1947 dks
(3) uoEcj 1948 dks
(4) uoEcj 1949 dks

170 jk”Vªifr yksdlHkk esa fdrus lnL; euksuhr djrk
gS\

(1) 2 (2) 4

(3) 10 (4) 12
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171 In which city of India had the 1984

drastic gas tragedy happened?

(1) Delhi (2) Kanpur

(3) Bhopal (4) Ahmedabad

172 How long will it take time to present

the arrested person before the

magistrate?

(1) 12 Hours (2) 24 Hours

(3) 36 Hours (4) 48 Hours

173 When was the civil rights act of

America passed?

(1) 1934 (2) 1954

(3) 1964 (4) 1994

174 Which article of Constitution states

that untouchability has been

abolished?

(1) Article 17 (2) Article 15

(3) Article 21 (4) Article 16

175 Who is the present speaker of

Rajya Sabha.

(1) Smt. Nazme Haptulla

(2) Sh. Mohd. Hamid Ansari

(3) Smt. Pratibha Singh Patil

(4) Sh. Venkaiah Naidu

176 Which level of Government issues

the 500 Rupee note in India ?

(1) Local Govt.

(2) State Govt.

(3) Central Govt.

(4) Municipal Committee

171 Hkkjr ds fdl ‘kgj esa lu~ 1984 dh Hk;adj xSl

=klnh gqbZ\

(1) fnYyh (2) dkuiqj

(3) Hkksiky (4) vgenkckn

172 fxj¶rkj fd, x, O;fDr dks fdrus le; ds vanj

eftLVªsV ds lkeus is’k djuk iM+rk gS\

(1) 12 ?kaVs (2) 24 ?kaVs

(3) 36 ?kaVs (4) 48 ?kaVs

173 vesfjdk }kjk ukxfjd vf/kdkj dkuwu dc ikfjr
fd;k x;kA
(1) 1934 (2) 1954
(3) 1964 (4) 1994

174 lfoa/kku dk dkSu lk vuqPNsn vLi’̀;rk vkSj

NqvkNwr dk mUewyu djrk gS\

(1) vuqPNsn 17 (2) vuqPNsn 15

(3) vuqPNsn  21 (4) vuqPNsn 16

175 orZeku esa jkT;lHkk ds lHkkifr dkSu gS\

(1) Jhefr utek gsirqYyk

(2) Jh eksgEen gkfen valkjh

(3) Jhefr izfrHkk flag ikfVy

(4) Jh odS;k uk;Mw

176 Hkkjr esa 500 :i, dk uksV fdl Lrj dh ljdkj
tkjh djrh gS\
(1) LFkkuh; ljdkj
(2) jkT; ljdkj
(3) dsUnzh; ljdkj
(4) uxjikfydk
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177 In which state of India the tribal

community does not exist?

(1) Orissa (2) Haryana

(3) Jharkhand (4) Rajasthan

178 Which is an organisation that arranges

toilet facilities in the city and towns ?

(1) Sulabh

(2) Bharat Vikas Parishad

(3) Mohalla Sudhar Samiti

(4) All of the above

179 When the supreme court banned

the practice of manual scavenging?

(1) 2001 (2) 2002

(3) 2004 (4) 2005

180 Who is known as the father of the

Indian Constitution ?

(1) Pt. Jawahar Lal Nehru

(2) Dr. Bhimrao Ambedkar

(3) Dr. Rajendra Prasad

(4) Sardar Patel

177 Hkkjr ds fdl jkT; esa vkfnoklh leqnk;
ugha gS\
(1) mM+hlk (2) gfj;k.kk
(3) >kj[kaM (4) jktLFkku

178 dkSu&lh laLFkk ‘kgjksa vkSj xkaoks esa ‘kkSpky; lqfo/kk
izca/k djrh gS\
(1) lqyHk

(2) Hkkjr fodkl ifj”kn~

(3) eksgYyk lq/kkj lfefr

(4) mijksDr lHkh

179 loksZPp U;k;ky; us flj ij eSyk mBkus ij dc
izfrca/k yxk;k\

(1) 2001 (2) 2002

(3) 2004 (4) 2005

180 Hkkjrh; lafo/kku ds tud dgs tkrs gS\
(1) ia- tokgj yky usg:
(2) Mk- Hkhejko vacsMdj
(3) Mk- jktsUnz izlkn
(4) ljnkj iVsy


